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Marn 114: ParLp 2021 Quiz 3 (10pTS4-10PTS BONUS) |

You may use your homework solutions. I need to look al your class notes while you take this. You are
allowed a 3z5 tneh card of formulas. Thonks! 2pis per problem.

Problem 1: Find the length of the hypotenuse and the angle 8 in the triangle pictured below:
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Problem 2: Given sin6 = —1/2 and cos# = +/3/2 find sec 6.
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Problem 3; Simplify cosdlrcosz — sindlzsina.

Cos YIX os X — §indlX Sen X = (0F (Yix +x) = |[cas(¥2x)

Problem 4: Stmplify sin 4z cos 3¢ - cosdzsindz. .. -

$in YX ar IX —r IXSia3X = Sin (YX-7K) =

Problem 5: Simplify sin T -+ sin 5z using one of the sum to product identities.

. . +5Xx -~ §X
Sin X + & Sx = 4 Sin ("1&;‘*"'} ""f("}%"“)
= {Q sin(6X) m(x)j

Problem 6: Simplify sin 4z cos 11x using one of the product to sum identities.

Sin IX s lix = ---~(J'rn (Yx +1(x) + J’m(‘{x—-llx/)

dsinllsx) + .ﬁn(~?x)) = ( [sm (isx)— .rm(?x) ]
Problem 7: Use trigonometric identities to simplify the expression below:
—2cos(—z)sin{~zr) = — Q (of (x) ("J}A x) o {efihg eUEN /J'r}\f o Jq’
= Acss X SinX
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Problem 8: Find exact value of sin{28) given that sinf == —1/5 and # is in Quadrant 111,
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S0 tcst®= | = w@=*t g = —1-4% = 12L
sin (20) = Asibw® = a3 ) = t;ﬁﬁ =+7/6
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Problem 9: Use trigonometric identities to rewrite the expression below in terms of a sumn of cosine
functions with various arguments:

s'(e) = L(1- (AF[ZG)) +(1- (9.{'(?_’,5)) S Since f'® =L(1-cy28))
and (a0 = (in¥S Sin 2O
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Problem 10: If @, 3 and + are angles in the same triangle, then prove that sin{a + 8) = sin+v.

Sin (o + @] = Sin (T - ?’} : 8in @ 0(+p-1—'a":77'-'—-’>0(+g=ﬁ-)”
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= — (=5 (7))
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